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Sample Paper

Mathematics Paper Sections A, B and C
2 Ay By C Ry

60 minutes
36 marks

Instructions:

e A scientific function calculator may be used. 7] {fi Fi Fl Z2 R E T T H 4

* The test will be taken on a computer. {¥-ft 7E H i _E {2

e Scratch paper is provided. 2L FFE 4R

e No marks are taken away for incorrect answers. Z45 AN 5347

* You do not need to include units for any of your answers. & Z& o 75 5 HLAL

e For Section A, each correct answer is awarded 1 mark. A #3438 N IEFPERE 1 4

e For Section B, each correct answer is awarded 2 marks. B #4384 IE A & 245 2
v

e Section A is worth 10 marks. A #5473 &3~ 10 43

e Section B is worth 20 marks. B #4343k 20 43

e Section C is worth 6 marks. C #43543k 6 43

* You will need to fill in multiple boxes in Section C to gain marks

Ciilor T BEHHE 2 M IR AR 7)

Do not begin until instructed to do so.

HAF I E MU T AR E) 5 vl Bl R o



Section A

Solve 52x —3) +2x = 6x — 1 — 2(3 — 2x)
RAFES52x —3)+2x =6x—1—2(3 — 2x)

Answer

Solvex2 —x—42=0

RATEXx2—x—-42=0

Answer , Answer2

Find the volume of the following shape

KL ARBIATR

5cm

Answer



4. Find the value of x
Rtx &

N

Answer

Find the area of the following shape
SR BARZER D ER

Answer



Find the mean of the following numbers.
R FHF TR
12 14 15 11 10 10 17 21

Answer

In a bag there are 4 red balls and 8 green balls. | choose two balls at random.

Find the probability that both the balls are green.

— PMRFEFINLIIRF/\DEEIK, FHBENLMAPHEFE TR, B P IKEE R EAHTER
230
Answer

Find the sum of the square root of 36 and the cube of 3.
K368 A RS 38935 2 ]

Answer

Find the n' term of the following pattern.
oD e
17,14,11,8,5

Answer



10.
Find the value of x.

Kt x BY{E
X
5cmj
7cm
Answer
Section A: Answer grid
1. Answeris4 6. Answer is 13.75

2. Answerl is 7, Answer2 is —6
7. Answer is 0.424
Or Answerl is —6, Answer2 is 7

3. Answer is 111 8. Answer is 33

4. Answer is 69.6 9. Answeris —3n + 20

5. Answer is 52.5 10. Answer is 8.60



Section B

The diagram shows a square with sides of length 20 cm. Three quarter circles are
removed from the square.

What is the area of the shaded region?

SNEIRfR, — BN 20 cm MIEAR, A=THRAIZEE—1TNSZ—E, KBFED
ROER.

20cm

Answer

Three equations are given as

—a—b—-2c=3
2a—b+2c=0
—a+b=1

Solve them to find a, b, ¢

BrEA
—a—-b—-2c=3
2a-b+2c=0
—a+b=1

K



X \
A - D

In the diagram, the area of the shape is given as 1004/3.

If AB : BC isequalto 1 : 2 and x = 60, find the length of BC.
BN, EFMEIRRRZ 1003, EA AB: BCET 1:2, x = 60 XBCHK.,

Answer

M/@

Two similar prisms are shown, the volume of the larger prism 243 cm? and the volume of

the smaller prism is 72 cm3 .

Ift =9, what is the value of s?

ERARMEMEE., KRENEIRR243 cm?®, IVEENEIRE72cm’ . B =9,
K s B91E,

Answer



EA is parallel to CD, angle EAB = 25° and angle BCD = 155°. What is the acute
angle ABC?

E A

C D
B41: EA F17F CD, 2EAB = 25°, zBCD = 155°, K53 2ABC,

Answer

If the equation 2x(p — x) = 3 has real and equal roots, find the exact values of p.

BRGRE2x(p — x) = 3BEFNTEIR, KphUERE.

Answer , Answer2

A bag of balls contains 12 balls, 7 are red and 5 are blue. | take three balls from the bag
without putting them back.

What is the probability that there are less than two blue balls?
—MRFER12PK, MK, ATER, MRFERIZEL=T3K, 8XFHKRA
BROZE, E=TKAD>TRITEROFRESD?

Answer



10.

The line AB is a chord where A(4,7) and B(12, 3).

Find the equation of the line that passes through the centre of the circle and the
midpoint of AB.

N

53

B ’FZABNIG RN A4, T)FB(12, 3), SKIE/OHABRIFRREVELR T

2.

Answer
S -+ 2 X

An equation is given as 7= %35 + 3% #-5,y#0.

Make y the subject.
4 2 x

BixTFx, ylATE, — = + —,x#-5,y#0.
y x+5 3

KyxFxIRIER

Answer

Find the product of two numbers if their difference is 48 and the sum of their squares is
3264.

B MTERIER48, MBI FHME3264, KM TR,

Answer



Section B: Answer grid

6. Answerl is \/8, Answer?2 is —\/8

. Answeris 164.4

Or Answerl is —\/6, Answer2 is \/8

. Answer:a=—-5,b=—-4,c =3 7. Answer is 0.636
. Answer is 20 8. Answerisy =2x — 11

. . 12(x +5)
. Answeris 13.5 9. Answerisy =

x+2)(x+3)

. Answer is 50 10. Answer is 480



Section C

(3x—-8)cm
(x—4)cm

2x+1)cm

Find the area of the triangle shown. Show your working.

KE=ATHNER, TESLBEIIRE.

Equation is x2— x+ =0

X1 = : X2

Answer

Answer:

By Pythagoras’ theorem,

(x —4)? +4(x + 1)* = 3x — 8)*
Expand and simplify

x% —8x + 16 + 4x? + 8x + 4 = 9x? — 48x + 64
4x?—48x +44=0

Orx*—12x+11=0

Factorise and solve forx: (x —11)(x —=1)=0
Reject x = 1 sincex —4 <0and3x —8 <0
Sox =11

Now, base is 2(x + 1) = 24 cm, heightis (x —4) =7 cm

1
Area =5><24><7=84c1rr12



